@2 E Gk 3 I U U DOIFORERE R

018FEDE=2 Y » ZPEITIBUVVTHPCB, HCB, DDTH, F¥# 7=, ~(A Ly 27 A R 7n
EVT 2= V=TV, R 7Py 1,256910-~F T rEr 7 v K7 (HBCD) | #
RV 72 vy XedranT e ) =N ZE DR O A7V, FEEFRI T 7 0 VHEED
TaRLORWE #) ICOWT, BT Y OINEIRICAE S FEM Ui, ILWBLRAKFERTE v 2 —Ic k0
WO T ERAE (FRFT) | el R R BRI BRSEE BLR K R KGR OO T R A TG E R BT ECR R A2 L 0 A
SRARIC X0 BB T A T U OINE BRI L, IR &I &2 TN TR L L TR E IR EE ORIE %17
o7, BBHREHSIZ SV TIERUS, BIKOBEEIC SV CIER LS, BRI OWCIERATRT LB T
HD,

X1 DT OIRERIULA

F1 208FEEE=HXY IHE (EW HUUDIN) BIKOREE

masws B0 mmEn i e e o [ (])w%%j%ﬁ%%
JIX =N
|1 s 12 | 476x310 ~ 620%x399 ( 575x3.67 ) [31:;] ~ [gg:i] ( [gg:i]
E‘g”ﬁgg%ﬁ 2 | 20184 11 | 570%318 ~ 656x399 ( 6.16x382 ) [‘3‘2:2] ~ [ﬂ:i] ( [ggzg]
3 | 2018 4 11 | 586X371 ~ 9.00x410 ( 627x398 ) [3(7)}31] ~ [fé:;] ( [ig:g]
(E%%) 1 | 20184 3 | 586%260 ~ 634x4.14 ( 6.04X358 )é&%»w ééa ([g%

— 494 —




#2 1T T OYROHNERF
HAT : pg/g-wet
oo (F48)
i@g o - E F[F H] — — 10 7 ORI 5 3% 3%
o R T | U TR R () | s o
e S SE ik (AR | (B
[1] | # PCB 63 [21] 3,200 2,600,000 27,000 12,000,000 85,000 130,000
[2] |HCB 3.3[1.1] 9 41,000 110 34,000 2,600 3,100
DDT %
[6-1] pp-DDT 3[1] 3 3,600 14 5,900 63 29
[6-2] p,p-DDE 3[1] 1,600 1,600,000 1,700 670,000 22,000 290,000
[6] | [6-3] p,p-DDD 1.4[0.6] tr(1.1) 270 8.7 1,300 260 210
[6-4] 0,p-DDT 2.7[0.9] nd 82 nd 78 tr(2.5) nd
[6-5] o,p-DDE 3[1] nd 11 nd 31 tr(1) tr(1)
[6-6] 0,p-DDD 2.4[0.9] nd 17 tr(1.2) 110 9.9 3.7
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] [9-1]Parlar-26 21 [8] nd 990 nd 300 54 53
[9-2]Parlar-50 16 [6] nd 300 nd 490 tr(13) tr(11)
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o 240 [80] nd 390 nd 950 500 tr(90)
[17] | v /7oL By 15 [5] 20 6,200 32 8,100 280 480
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[22] | [22-1] <~y & smn7 =) —L 30 [10] 110 13,000 tr(10) 910 180 1,200
[22:2] v HrmuT =Y —) 61[2] tr(3) 530 nd 230 20 11
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[23-1] HsR(bT LV HH 1,200 [400] nd nd nd nd tr(600) nd
[23] | [23-2] ¥EElL Y T LK 1,800 [700] nd nd nd nd nd nd
[23-3] Hask{k KT LV FE 1,500 [600] nd nd nd nd nd nd
[23-4] L Y Fh M 1,400 [500] nd nd nd tr(2600) nd nd
[24] | vaknw 30 [10] nd nd nd nd nd nd
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